92 F¥Fdan (BM)
fEREA i | Bz
£ 80.88| 1
BB 80.58] 2 /
G=Eis 8047| 3
AEAR 8029| 4 , s
LB 80.25| 5 : .
R 80.21| 6
=R 80.14| 7
X5 80.06| 8
152 7997 9
do] 79.95[ 10
Ik 2 79.92 11
LE 79.91| 12
FE 79.88 13
HR 79.82 14 (%)
I 7977] 15 %’ gé
) 79.73| 16 | 79 70
2 79.71| 17 79. 51
alll 79.71 17 79. 21
Z50 79.71| 17 79. 01
=I5 79.70| 20
=5 79.68| 21
(=8 79.65( 22
BE 79.62| 23
kE 79.59 24
£ 7955 - 400km
[IE) 79.54| 25
B 79.51| 26
i 79.47( 27 -
7 Baj 2 (BE) FHEGOES (SN
HE 79.40| 29 =
R 7940 29 | 82
1= 79.30] 31 | of
58 79.28| 32 __-m 796
ERE 79.21| 33 | 73
tiEE 79.17| 34
ZiE 79.13] 35 | 76
Rk 79.09| 36
IR 7907| 37 | 74
AR 79.06] 38 | -,
1l =] 79.03[ 39
ER 79.01] 40 | 70
KR 78.99 41 70.2
=40 78.91 | 42 K
RIG 78.88| 43
BE 78.84| 44 | ©°
=F 7853| 45 | ,
A H 78.22| 46
%;’; 728l 17 S50 55 60 H2 7 12 17 22 E
FERFR25
HEMEFENERR(BEEFBE) . s2EaR(EE: - BEFBE)

XEEFDFE,
S$E ARIZEEFH0D99.2%

XEEEICENER-FEEED,




93 FEHFdan (XE)
fEREA i | Bz
R 87.18| 1
51R 87.07| 2
s 87.02| 3
BER 86.98| 4
i 86.96] 5
= 86.94| 6
L5 86.94| 6
[E ] 86.93| 8
X5 86.91| 9
=i 86.75| 10
Z=1l 86.75| 10
BE 86.69| 12
TIED 86.65| 13
R 86.65| 13
LB 86.63| 15
=I5 86.61| 16
=R 86.60| 17
&E 86.58| 18
pad 86.54| 19
1= 86.48| 20

=531 86.47 21

(=8 86.39| 22

BIR 86.39| 22

& 86.34| 24

tiEE 86.30| 25

RIG 86.30 25

£2H 86.30 -

Lf 86.28| 27

BERE 86.28| 27

I B2 86.26| 29

=5 86.25| 30

do] 86.22] 31 | o

= =

450 86.22| 31 86.3
mE 86.21| 33 | 84 z

F= 86.20| 34

EE 86.14] 35 | 82 < T

B 86.08] 36 -~

M=) 86.07] 37 | % /" —— BHR
BE 86.05| 38

N 8503 39 | 7;9;/ -u- 2H
N 85.93| 39 | 76

5 85.91| 41 76.5

BE 85.88| 42 | 74

=F 85.86| 43

b, 8583 44 | 72

IRl 85.69| 45

A 85.66| 46 70

%Ei’i o532l 27 S50 55 60 H2 12 17 22

FER:FERR225E

HE-FERFRENEGR(BEEFTBE). s2Eak (ZEE: BEEFBE)
MEEBDRE,

SE . ARXLETH00D100.2%
XEEEIZIINE-FHFEEST,




904 BEREZEZEZE(THHER)

EEFFES % | L

= 452 1

1} 442 2

HR 436 3

£H 432| 4

alll 424 5

B2F 424 6

=] 419 7

s 413 8

518 410| 9

BERE 40.9| 10

D 400[ 11

el 39.8[ 12

=8 39.8| 13

BE 396 14

& 39.4| 15

=mE 375 16

EH 37.3| 17

i 371 18

% 37.0[ 19

HE 37.0| 20

FE 36.5 21

I & 35.6| 22

BE 355| 23

&E 354 24

FXH 35.3| 25

Ll 352 26

£E 343| -

e 340 27 (BE) RARSODS:

e T REOZLE(()NIETHMREDLEIES : H25E )
Ik 337| 29 | ,, %

E 32.8| 30 i
S 40 325 31 mEHR
=G 322| 32 311 =ESE
koS 318] 33 | 5, | 285—

AR 315 34

B3 30.4| 35 253

FIrL 30.3| 36 20.8

12 298] 37 | ,, | . 19.0

AR 29.3| 38 16.0 15.8

B 292 39 :

KR 27.9| 40 12.6 11.2
=R 278] 41 | 10 | 9.6
il L 26.0 42

#wE 252 43

ZiE 25.1| 44

timsE 247| 45 0 , , , , ,
rujg 22.8| 46 FEEAAGRI) WA  KBAAGIE)  AAA@E) BhA23f)
N 22.1| 47

FRFRBEE

HE - EREDE - FERBIEERRA IR RE
L BLEN - HERDHEEH X100

SAEX BFEREDSE

REOR=HE

& KR IXLEFHDI478%

<757>mﬁ;tﬁﬁ{%@1@§i§ﬁ$%i&%<J§¢§;1§n%>
2(ERBEERTEL)

BEREDELE, REFEICAO~T0RELIERRROMAE (BEE4R1BREETHMALTNSE)
ELF-NIERERAAEIERE (A2 v o RO—L) ICEBLI-BREZEEZLD, il




95 AFBERICEAETHER(AOIOGAHY)

EEFFES PN
1 HE 806.3| 1
=F 7349 2
B 7289 4
11} 72711 5
FIrL 7038| 6
SR 703.1| 7
ZiE 687.8| 8
i1} 685.5| 9
=mE 682.8| 10
s 680.0| 11
B 678.6| 12
BERE 671.0| 13
RIG 657.4| 14
mE 654.2| 15
= % 648.1| 16
&I 636.3| 17
& 634.9| 18
K5 631.1] 19
JtiEE 630.2| 20
=] 629.7| 21
&=E 628.8| 22
L=k 613.1| 23
g 605.2| 24
REX 596.2| 25
BE 5909 26
AR 588.4| 27
it
o W8 B (5%) SKEFBEFICLIECEROERS 105 ALY BHR)
TR 581.7| 30 A
I & 575.2| 31 100
=B 569.6| 32 | o
LB 5645| 33 346
=8 561.8| 34
Ll 559.2| 35 300
= 552.4| 36
2H 550.7| - 20 | 237
R 549.1] 37 | ,0 | |
£E 536.6| 38 m
KR 5195] 39 | .. 11 ‘hw-_lj!’_.""w"""' s
12 505.5| 40 » 130
FiE 503.8| 41 | ;00
BE 4834( 42 —— BEFEY
BE 478.6| 43 50 -m- KRR
HiR 4634| 44 .
#EI 451.0| 45 ol i
250 443.9| 46 M2 3 4 5 6 7 8 8 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 F
e 402.6| 47
FER:FRR265
HE: NOBREME(EEFBE), HHAD@BEL) CTOEFEEREL. ROERFIECERDEHTHD,
HERX EEEERICLIETER - HLAD 1 BHEHEY
& . KRIILEFHD132.72% 2 HERA
XEEREICEINE-TEEST 3 EmEMES

4 MER(EIEHZER

5 i I & K B




96 FLRETEMWERFAHY)

MEFES %o| JIB15z

AR 36 1

B 35 2

mE 35| 3

i 29 4

BERE 27| 5

Ik 27| 6

i1} 250 7

= % 25 8

I 25 9

FAH 25| 10

=B 25 11

I & 2.4 12

SR 2.4 13

=40 24 14

s 2.4 15

Al 2.3 16

K5 23| 17

= 22| 18

FE 2.2 19

tah 22| 20

i) 21| 21

Ei& 21| 22

%E 2.1 23

B 21| 24

£E 21 -

£E 21| 25

#EI 2.0 26

# i 20[ 27 N = 18 %= s = 0|8
e 202 (3E) AREEROMB(FALEY SHE)
=F 2.0] 29 %o

[iEi 19| 30 72

=25 1.9] 31 <

LS 19 32 | ° =418
EF o] 33| \ e
B 19| 34 ' -m- 2E
=B 191 35 | . 46

HiR 19| 36 T m

MED 8 87 | o & ®amm YA A A

=5 18] 38 | y--

tEE 6] 39 | 5, bt \ /\ A

fE L 1.6| 40 ' -

AR 16] 41 | 5 u.-.M‘.‘ ‘l~_l%[11
BB 16| 42 ¥

el 15 43 | 1,

ZiE 15| 44

R 15 45 | 00 b
BE 1.3| 46 H2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25I26I£|5
B 1.3] 47

FR:FR26F

HE: AOBREME (FETHBE)

HEX IRETR(FALLY)=3LRETCH - HEHR
SZ KEX2ETFHD115.44%

XEEBICIFNE-TFHEZET

FLIRET
AERIFERBOETZELD,
EHICEEEH SN ERMM TR L-FRDEET,




97 ERMERICHEEITHEMBAOIOLAZSLY)

HEFES NIER

WD 326.3| 1

HiR 3234 2

mE 3224 3

B 3110 4

=2 3076| 5

K& 300.8| 7

il L 2994| 8

REX 2874 9

FIrL 287.4| 10

alll 285.8 11

=l 2815 12

SR 2795| 13

&=E 2777 14

KR 2746 15

K7 271.3| 16

B 2636 17

L5 263.0| 18

BERE 257.8| 19

wa 2570 20

L=k 251.0| 21

i 2500 22

=] 248.3| 23

= % 2450| 24

£E 2449 -

£E 2429| 25

iEE 2405 26

=R 232.7| 27 (BE) fEiaX r

I} 230.5| 29 i}

ED 230.1] 30 | 2

BE 228.2] 31 | 13 176

FAH 227.1| 32

K% 226.9| 33 | 16 14.8

AR 2233| 34 | 4,

HE 2225| 35

=8 216.0[ 36 | 12

B 2136] 37 | oy 102
GBI 209.3| 38 i

I B2 208.8| 39 8

=2F 204.1| 40 o7
B 2029| 41 6

GEdbd 2015 42 4

s 200.9| 43

BE 196.9( 44 2

Fi 189.4| 45 0 , ,
K 177.7] 46 BHR ERR Eg BIER EE
BE 158.9| 47

EXR ER265E 1231 A& (TS ER FR265108 1 BB
B AT - s R R D - R E (EEFH @A o EEERR (BRE) B (BEHEE)
i 2EBORE) . HEAD (RHH) HEX EREH (0B ALRY) =RFEE--HLA0
HEXERERICKETIEMK(10AAEY) =EmM-HA0

5% ARILEETHD123.55%




98 EMMmERICHES=I MBI EEB (A0S AZY)

HEFES NIER

HR 1224 1

126 1091 2

mE 108.1] 3

s 905| 4

I 89.1| 5

L5 88.9| 6

K& 88.3| 7

Kk 88.1 8

iEE 830| 9

FE 83.0] 10

£E 81.8| -

GBI 815 11

Iz B 80.9| 12

B2F 80.3| 13

= 79.8| 14

BERE 776 15

HEA 770| 16

& 76.8| 17

Il 759 18

&=E 75.6| 19

250 749( 20

el 740| 21

WD 72.7| 22

=mE 720 23

BE 715| 24

BE 71.3| 25

D 71.2| 26

EE 71.2| 27 = ——
s o (BE) ERBEMBADI0F ALY  ME:H264)
=] 68.2| 29 i}

=B 682 30 | 7°

ZiE 68.0[ 31

mA 66.6 32 | 60 55.8
R 66.6| 33 o >4.0
= 655 34 | 50 : 48.0 48.9
K5 65.1] 35

=8 648| 36 | ,,

B 64.1| 37

Ll 62.6| 38

2 616| 39 | *°

all 60.9| 40

1 HE 59.9| 41 | 20

i 59.4| 42

SR 592 43 | 10

B 59.0| 44

= 58.2| 45 0

BE 56.6| 46 B T IR BiER &H
Li=Fis 53.3] 47

R TR26E12A31 BTG
H B EAT - e =R - ERIR R E (B EE
i 2EEDRE) . HETAD (RIEE)
HERX . ERBRRIKES I IEREMB 0B ALY) =mF EM-HLAO

SEZ RKEIILETHD85.82%

(TSVER: FR265E10A1 BB

H L ER R (B AR (BEFH@BE)

SRR ERZERARI0B ALY = 2 RAH--HAD




090 EFEMRICKEILSFEMB(AOIOEASZSEY)

EERTIR S A | IEHE
=l 11229 1

RIG 10302 2

BER 10255 3

&E 1022.8| 4

REX 10044 5

K7 988.0| 6

alll 972.4| 7

= % 962.6| 8

f=2hm 956.8| 9

ZiE 949.4( 10

i1} 9488 11

e 939.7| 12

& L1 934.4| 13

JtiEE 9295| 14

B 916.5| 15

=l 9146 16

518 907.4| 17

=1 890.9| 18

Il 8440 19

FAH 838.3| 20

L=k 834.2| 21

L5 8295 22

5F 8255 23

iR 823.6| 24

I} 800.9| 25

D 799.4| 26

EH 786.7| 27

55 772.5| 28 P __ P —

EE 735.8| 30 A

s 734.3| 31 162
PN 720.7| 32 | 14000 =17 508
2E 7294 -

F 12,000

e IR - s
=B 7050 35 | 10,000 -~ m IR EEE

== 6735] 36 w A BT

=41 670.2| 37 | 8,000 |- -

BE 6688 38 m BEER

iz & 651.4| 39 | 6000 -

L5l 644.0| 40 5700
HR 634.5| 41 )
B 628.0| 42 4000

AR 626.1| 43

W 566.8| 44 | 2000

Ik 556.8| 45

FE 538.6| 46 0 - T
iﬁEE 475.9 47 S51 52 53 54 55 56 57 59 61 63 H2 4 6 8 10 12 14 16 18 20 22 24 26
ER TRR26E12831 HBE

HE HATBRRES (FEEFBE 25 LORAE) . HHAD BHE)

HER ERERICHETLIFEMM0PALY) =EEESR (RIEXIEZEN (CREBTIEEME-HBAD
& . KRIXIELEFHD153.94%




100 J/ARB(AO105 A &=Y)

EBEFTES R | B L

=450 24833 1

BERE 2,055.1] 2

REX 1,961.4| 3

e 19434| 4

K& 19315 5

wa 1,9259| 6

&E 1,809.3] 7

JtiEE 1,788.4] 8

=I5 17274 9

K7 1,711.4| 10

f=2hm 1,690.6| 11

ZiE 1,618.0[ 12

alll 1,598.0[ 13

E1R 1579.7| 14

=] 1577.9| 15

=l 1,539.3| 16

B 1519.7] 17

il L 1511.7| 18

1 HE 1,488.6| 19

LS 14265 20

Foar 1,4129| 21

L=k 1,406.1| 22

WD 1,3750| 23

B2F 1,367.8] 24

eSS 1,337.1] 25

=mE 1,334.8| 26

bk 1,329.7| 27

1} 1,319.6] 28

g 1,312.0| 29

s 1,256.6| 30 R
HE 1,244.7| 31 73

£E 12340] - m &%
KEx 1,219.7] 32 | 20000 - oA
=B 12139 33 oEE
EE 1,179.1] 34 W
=& 1,146.8[ 35 3,676
=8 1,125.0| 36 15,000 1

Ik 1,101.5| 37

AR 1,089.5| 38 6,669
= 1,085.4| 39 | 10,000 - -

L5l 1,045.1| 40

BE 1,028.7| 41 7,857

I B2 1,015.4 42 | 5,000 -

HR 949.3| 43

FE 937.9 44

250 908.9| 45 .

iﬁi 8573| 46 H8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 ‘E
cEIN 814.9| 47

R FERR26E108 1 Akt

L R (B S E (FEFEE) . Rt AD (REH)
STEX RARK 0B ALEY) =RRKRE--HAD

SZ KEX£EFHD201.23%
X —HRESERT. ER2EATIXERS




101 EHERBH

EBEFTES IR
=450 488 1
BERE 447 2
&E 442 3
wa 434| 4
REX 421] 5
S 416 6
=I5 387 7
RIG 386 8
f=2hm 364 9
=1 35.0[ 10
iEE 341 11
all 339| 12
K5 336 13
ZiE 336 14
LS 328/ 15
FAH 325 16
s 32.1| 17
B2F 319 18
eSS 315 19
E1R 31.1] 20
bk 31.1| 21
AR 311 22
FOERIL 30.9| 23
=mE 30.7| 24
ED 305| 25 ol 0 400km
=8 305| 26
B 304| 27
= 30.3| 28 A —
it S (BE) THERBYEOES(SHM)
5E 300 30 H
90 -
£E 299| - 78.9 = 41
Il 295 31 | g0 1o ——mAR
ZI 28.9| 32 eS|
i) 289| 33 | 70
il L 28.8| 34
HE 28.7| 35 | 60
LT 28.0| 36 >0-5
PN 279| 37 | °9 | 48.8
£E 278 38 |,
=B 27.7] 39
= 26.9] 40 | 3 59.9
HE 26.6] 41 ’
= 26.4| 42 | 20
Ik B8 253 43
B 25.1| 44 | 10
¥ 246| 45
ES 231| 46 | O T T T T T T T T T
*ﬁi'}%“l 230| 47 H2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26

FR:FRR265E
H bR S (FAE T BE)

HERX FHNERBR=ERBELER - ((FARBER HRREER -2}

SZ KEX2EFHD163.19%




102 RERBFYBEADOIOFAZREY)
EEFFES PN

% 51.9| 1

HiR 509| 2

e 489| 3

= % 38.1| 4

Foar 374 5

L5l 372 6

5F 371 7

B 369 8

WD 363 9

HER 36.2| 10

ZH 35.9) 11

BERE 359) 12

#EI 344 13

126 344 14

L=k 343| 15

2E 340| -

£E 33.7| 16

=1 334 17

& L1 33.3| 18

FE 332 19

&E 33.1 20

=8 32.7| 21

KR 325 22

E1R 320 23

=B 320| 24

K7 31.6| 25

&I 30.7| 26

Ik BB 30.2| 27 . .
iﬁi 289 28 <§%> %ﬁn_\%ﬁ(@ : HZGE)
LS 28.9| 29 A

Al 286 30 | 400

HE 285 31 352
B 284| 32 | 30

mE 28.3| 33 301
A 281 34 | 30

=450 28.1 35

i 280| 36 | 2° 16

BE 276 87 | . 207

e300 27.4| 38

i1} 26.6] 39

=5 26.1| 40 150

1 HE 26.0| 41

£H 25.6| 42 100

B 252| 43 <0

i 252 44

itisE 25.1| 45 0

*ﬁi fgg :‘;‘ =Ll mea NI BIEE

FR:FR265F

B RRE A BN AR B E R F R (B BRRIERZURN) | #5t A D (1RHH)
HEXREFEYBRNOFALY) =RLFEREFH--HLAO

& . KEIXLEFHDS259%




103 HEEHSEFEHEHHRAOIBAHEY)

MEFES | 1Bz

KR 615 1

HiR 569 2

I 527 3

WD 509 5

i 503| 6

=F 489 7

el 481 8

#wE 481 9

F= 480[ 10

£E 478| 11

e 475 12

BIE 474 13

=B 473 14

i1} 472 15

2E 471 -

f=2hm 469 16

HER 468| 17

BERE 465 18

Ei& 449) 19

HE 447 20

JtiEE 447| 21

BE 442 22

[Nz 441| 23

& 439 24

£H 438| 25

= 435| 26

il L 435 27

5 432| 28

o TE T |
EHY 416| 33 I 4,306
{ZE’E 216 34 30,000 I

Fy=t 415 35 | 5c 000 5,901
R 412| 36 ’

EiR 410( 37

kB 407| 38 20,000 A
AR 392 39

;"":ilq': 288|420 15,000 O% 0t
1 HE 384] 41 | 19000 aRXBER
= % 382| 42 e —
I} 381| 43 o
= ol as 5,000 uéﬂxﬁf'%’
=5 363| 45 0 L
Z=all 347 46 H12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 F
Li=Fis 342| 47

FER:FRR265E

HESHEFBRECERRT) . R AD (RFE)

HERX MEEHEFEREBGHROBALREY) = REEEEREEHH B AD

& . KRIZLEFHD11058%




